A & ol & AF & Ml A

20199 &= =20l & LB
M OlsE2EH
& 500 Ex3
2 510 218x328
& 511 218X 3S (o9 ®
2H-2-2.8.5 Oll &F o & E Ol At Hns2
ES Al 152,714,230 148,135,355 4,578,875
OHESES I 152,714,230 148,135,355 4,578,875
500 Ex = 152,714,230 148,135,355 4,578,875
510 318X 3S 101,926,470 101,294,365 632, 105
511 208X =3S 101,926,470 101,294,365 632, 105
511-01 212X 3 101,926,470 101,294,365 632, 105
Ooorsege XA REs N 210,000
Ogdots 2=+ N2 219,240
OXliots ¢ dEEX= L 224 10,980
O=dJI2 2XX& 490
oggdle X 5,670
oYYy - Jtyfgols dalxz X 3,450
OO0ts+g XIAMAIY =&Y 5,595
O0ts==g =0 X2 22,354,383
OZsdEId 234l & 70,894
O0tsESd=2II2 23H N2 221,846
OXY0otsHH JI22g9Hl X 1,097,020
SE+3Hd 249H & 36,540
OER23H X2 34,656
O0ts=X 1A JIE22 148,257
O0tsEXnA AlsIBERd2 2 82 29,805
OX S AS S XA 0] 750
OOtSEXRAHEAZZR)H2Z Y] 45
O2+=XI0otsdd 2H X 38,880
OUSNSsHEH 22l 19,940
OtsgHEsdy c2dd XA 42,000
OXNYotsHE ZMSH X 65,000
OREs0ts HE+2 NIAAMY 73,951
ORESos NEXNIAMG(BALNSOHS HEXE) 7,056
OFAHES OtssSEAMEIA X 379,000
SRILHEE 22 (X&) 10,000
ONgold @ Ex+ust| 15,600
OFFXNENHEOE HE= 31,000
OZ2380eold 2gH| 303,840




Al &

Ol &b A

o

&

Al A

= o
2019E & =20l & 2utsl
SH: OSERD
& 500 Ex3
2 1510 2DEX2ES
8 511 208E3S LD
SN2 Ol &k 24 B ol by HZE2
OSO0EATH HOIOO0IE X& 7,800
OBLXY O{RI0T SAK 12y K& 5,400,000
OXOHOt S& HeSl0ld ESWA AA48I(7Y) 102,630
OAZOIZE ORI0IE SY DA 0121 (80%) 748,200
OO0RI0IE RMDTH X (4000H4) 147,000
ONeolE 22l X (80IHA) 84,000
OgRot B85 NA(ESH2H 0IREAY) 97,500
OZgxot 8= XI2(10,000%) 51,807,274
O0glol® nlolsots HEYs2Y XA(7,2009) 11,310,000
OBZWA 1Ad| XI&(274%) 2,262,226
OOZOIZDA 22L& (RAZRAZE Za) Helbl(
2,400%) 2,820,000
OsZE EsUM SEI2RSE(440%) 290,400
OANZAES Q24 2 2| 36,552
OAZH 283 7,000
o3&+ el22d & 550,000
OFIIL X K& 735,000
OJNRM Pyl X 85,000
20 Al - SHIBZZ2S 50,787,760 46,840,990 3,946,770
521 Al - EHIEXZ=S 50,787,760 46,840,990 3,946,770
521-01 Al - EHIE XSS 50,787,760 46,840,990 3,946,770
OJNESISA M4t X & 6,090
E230ts 120 1432 2IIAMd 720
Sxe IHASLHU AL N 12,000
O FESIEOIS 2AY X2 15,840
OAN&EAOls NHEEHES N2 20,000
0RE50S HE+y XA 15,847
02250 NUXNIAY(FALXSOHE HEN) 1,512
RES=A=Z 5,140
OOtSZLXNHN XS X8 45,000
Oots?Id =5 XN& 2,400
S LW 3,200
OPHBMOIA 20t Ls4e X 5,760
ogayE X 2,430




SH: OSERD

& 500 Ex3

= 520 Al - SHIE XSS

8 1521 Al- CHIBEZES CLEE

SN-F-B-g-2 0l &k o8 B ol by Bl =2t
oYY - INEALIE M2AXZ X 720
OOtSZ Al N (AS, Yot 5) 262,350
Oots=2tl XN (&IIs, ESFY) 1,197,000
OOlE4g XTA AYEEH 719
Otts=E =0z 2,873,913
OOIS=ZXAIL BAX 2 83,200
OSSMEINE 23 N 42,526
O0tsEsd2J/2 294l XN& 66,554
OXNHOISHE Jl=2dyl N 443,808
OXOIEME BAX &L 104,000
OXHOISHE Wergyl N2 15,780
OS+238 294 X 14,616
OER2dHl XN 13,866
O0ts=EX A JI22 59,303
OOS=XNRA ABPESST 2 €53 11,922
OXI%AEI S XI AL O ] 300
OOl S =X RMAHSAIZ22) AL BT b 18
OS+NAOISHE 2l N 15,552
OUBNESHEH 24l 9,970
OUBNESHE 2288 TA(1HA) 12,500
OXOISHE SBHMH X 26,000
FR2LHEH 2Z(XA) 5,000

OOZO0IE B B+ 7,280
OBLXAR0E N2 15,500
OB3ZEH0IE 224l 141,792
OSOZAT HOIOIE Mg 3,640
OBLXY O{RI0T SAK 12y K& 2,700,000
OZONOr S8 OIRI0IE SKMA 0121 (7%) 51,315
OAZHHEE O{RI01F DA 0124 (80%) 374,100
OOl2I01Z DM@ THl X (400H4) 73,500
O0eold xtagdl X2 (8001 A) 42,000
OYR0 2828 NA(SSHSH DIREAL) 26,250
OgxRot 285 X<A(10,000%) 13,948,112
OOl2I01Z DI0IBOIE HEUIAY X (7,2008) 3,045,000




SH: OSERD
& 500 Ex3
= 520 Al - SHIE XSS
8 1521 Al- CHIBEZES CLEE
SN-F-B-g-2 0l &k o8 B ol by Bl =2t
OB X WA o124l K& (2749) 1,131,113
OOZOIERA 22L& (RAZNATNE Tat) Helbl(
2,4000%) 1,410,000
OsZ& ESNA SE229(440Y) 145,200
OfclUd 2l X2 (22001 4) 3,600,000
OFclUE SE UM ML 1,600,000
Ofcld 8= X2 (6,000H) 15,084,920
Oooeoly e = K& 46,500
OOZOIE BRDXA A24L(L,54) 99,600
O0elold E'uUEI M2IMSH1(3,90) 630,000
OQZMOINEZ2UHE0IE ESUAHA S 45,000
O WA 124l X & 12,750
odsts ZYdH Es0ts ES=(HIZO0O0H 20Y) 490
ORIZHEMEE 0T ¢, A= Hl (360002 ) 76,000
OO e olE HAHE lHHl X2 (3600 2) 342,216
OYlE ols B2 X2 (HIZ0HOH 20¥) 7,350
oogoly 2284 258 N& 25,800
OANZHES o2t 2 2%yl 18,276
OAMZHH 252 3,500
Oz 222d XA 275,000
OZFIIL X K& 367,500
OJNX M 7l X 42,500




N & 0l & AF S & M M

20194

H
i
2
z
ne
s
ton
!
[=)
om
H
1
[

2N OISESD
HE: OIS=XEX

@ JIEES N (CHe &)

dHEE

SA-3H-S(3AH) - MRAS - BES Off &t 24 Ol AF o

ots=2su 195,176,857 182,197,877 12,978,980
101,926,470
50,787,760
42,462,627

= N H

ors=EXsd 46,578,873 34,203,915 12,374,958
24,517,591
,319,013
16,742,269

= N}
o

IIBES N 1,335,341 1,226,171 109, 170
523,781
135,147
676,413

= Hn A

tdtEg e X 91,700 104,800 A 13,100
= 34,650
Al 57,050

301 LEE A 91,700 104,800 A 13,100

= 34,650
Al 57,050

01 Al 28X =dl= 91,700 104,800 213,100
OJNELE A M=t XI&
70,000% = 145MICH = 23 20,300

6,090
Al 14,210

H

E2s0ts 12 1XA HI1 A g

600,000& = 3& 1,800
720
Al 1,080
O JIEASH AU EAH K& 30,000
12,000
Al 18,000

H

H

OJNHSIS0tS 2AH X

20,0009 * 1659 « 12 39,600
15,840
23,760

= M

IHEES Ots N& 237,600 252,000 A 14,400

301 €EtE &= 237,600 252,000 A 14,400

2&H=6l= 237,600 252,000 A 14,400
X

A&
20,000& = 1659 = 12E 237,600

IIFESOHSXNIA(FRER) 105,645 0 105,645
73,951
,847
15,847

= W
o

301

e
T
HI
0z
oy
S
(@]

,645 0 105,645
73,951
,847
16,847

Z W
o




AN OlSESD
g ots=Xsd

el HEES XE (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A3l EE & 56l = 105,645 0 105,645
OREs0ts AHEg+2 XA AY 105,645
= 73,951
< 15,847
Al 15,847
IINESOSNA(ZHEX) 205,140 151,900 53,240
< 25,140
Al 180,000
301 L2 A S 205,140 151,900 53,240
< 25,140
Al 180,000
01 A EE E 2563 205,140 151,900 53,240
OANEEA0ts JHEEEHZ XIS 200,000
= 20,000
Al 180,000
OLESIHsH2 5,140
< 5,140
OtsZ2E XA ANXSHHMIAED 300,000 290,000 10,000
= 210,000
< 45,000
Al 45,000
301 L2 A Z 300,000 290,000 10,000
= 210,000
< 45,000
Al 45,000
01 MEIBEE 2053 300,000 290,000 10,000
Ootsgg XNEAHE HEg=s N& 300,000
= 210,000
< 45,000
Al 45,000
orsfId s X 18,280 17,280 1,000
301 L2 A= 4,680 4,680 0
12JIE243 4,680 4,680 0
O0s?d HE==EHUs FA&X 24
60,000& * 36Y 2,160
O0ts2&d TUs &% 24
70,0002 » 249 1,680
OOtS9I® Y 9T HAT 24
70,000& = 69H 420
ONOtES2Zers 8ZNgdE &t 24
70,000& » 69H 420
307 21201 A 13,600 12,600 1,000
04 QIZFHALAIR B = 13,600 12,600 1,000
Ots®d SAY & XI&E 22dl N3 7,200
OZdotsl &8N e = 5,400




- - _ RE!
CEHE .S (3H) - MBAY - B2 0 AF o il HD=2
OonlotEsAs 29 1,000
Ots®Id =4 XA 12,000 12,000 0
T 2,400
Al 9,600
01 dEtE A= 12,000 12,000 0
T 2,400
Al 9,600
12 JIEtE &2 12,000 12,000 0
O0lsqd =2 & 200,000& ~ 604 12,000
< 2,400
Al 9,600
Y=tz XA 8,000 12,000 £ 4,000
= 3,200
Al 4,800
301 dBEtE A= 8,000 12,000 A 4,000
= 3,200
Al 4,800
01 AL EE & 2352 8,000 12,000 A 4,000
Ogs=xst2 XA 1,000,000& = 8H 8,000
< 3,200
Al 4,800
OIS JIEXE(¥E4+Y ) 313,200 324,000 A 10,800
2 219,240
Al 93,960
301 dEtEAZ 313,200 324,000 A 10,800
= 219,240
Al 93,960
01 AL 2 & & 2352 313,200 324,000 A 10,800
OogYots s X2 313,200
2 219,240
Al 93,960
1601 & A0S L= XA 14,400 16,200 A 1,800
& 5,760
Al 8,640
301 YptE A 14,400 16,200 A1,800
= 5,760
Al 8,640
01 AL B & X 4352 14,400 16,200 A 1,800
OBHBAMIOl A 2A0lEs s XA
150,000 * 8Y = 12& 14,400
= 5,760
Al 8,640
A0lE SN (HHOIES AY S H) 15,686 10,124 5,562
= 10,980
Al 4,706




CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
0y

301 €EtE &= 15,686 10,124 5,562

10,980
Al 4,706

H

01 A28 H ==6l= 15,686 10,124 5,562

OFlfots Y& dF2Ex= & 2A=2H| 15,686
10,980
Al 4,706

H

2ot IEXN(FY=cdd 2TXE) 700 2,100 A 1,400

490
Al 210

H

301 2ELE A= 700 2,100 A 1,400

490
Al 210

H

ol = 700 2,100 A 1,400
PADNR--! 700,000& » 1¥ 700

= 490
210

IEEE S
(o=
—_

O=dJlz

=

02
=}
O
N
I
>
o
©
02
==
010
>
o

8,100 29,700 A 21,600

5,670
2,430

Mo

301 LEE A 8,100 29,700 A 21,600

5,670
2,430

Mo

H=dl= 8,100 29,700 A21,600
2 X 8,100

5,670
2,430

o

Pl
]
pa|
o

4,890 2,400 2,490
3,450
720
720

= M W

301 YetE A S 4,890 2,400 2,490
3,450
720
720

= W

ol 2 4,830 2,400 2,490
OYY - IHYFASOS 42IXE X 4,890
3,450

720
720

Z W

=4 38,870,246 27,089,863 11,780,383
22,359,978
4,333,982
12,176,286

=z N H

s=24 NE 173,635 171,472 2,163

01 LBt2Hl 22,435 21,712 723




SN OISESD
HM: OlsSSASA
ool OIS AMSY EERED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AP 22| H| 22,435 21,712 723
OXY0tsHdEH ®EIIE AR =2 X
1,417,500,000& * 1% 14,175
OXN0otsHEH 0lS0ls A MHA X
400 * 1,050™ * 12& 5,040
Olts2Al?ds B4
70,000 *~ 11 * 23| 1,540
OX<E0lsHEH A o5
70,000 * 129 * 23| 1,680
301 et A= 151,200 149,760 1,440
01 Al E & A 462 151,200 149,760 1,440
Oot=sZ2AHI(XNEotsHdH AF) =IHAEHE
500 = 11,0509 * 288Y 151,200
Ols34 XN (ZEHEX) 3,820,500 3,384,000 436,500
= 1,459,350
Al 2,361,150
301 LBt A= 3,820,500 3,384,000 436,500
o= 1,459,350
Al 2,361,150
01 AISIE& A %52 3,820,500 3,384,000 436,500
O0t=Z2AlHl XA (HAs, garx) 2,623,500
& 262,350
Al 2,361,150
Oots3Adl XNA(sIIs E-B8Y)
2,800 4, 5008 » 95! 1,197,000
& 1,197,000
Olsotd & XA 22,260 57,660 A 35,400
201 LBt | 17,060 17,060 0
01 AP 22| d| 17,060 17,060 0
O0tssl AN =
10,000 = 100¥ = 43| 4,000
OOls=X AR HHL
70,0008 = 9¥H « 23| 1,260
OolAE s BE4Y
100,0008 = 3% * 123] 3,600
Oools&sl W =222 Mz 5,000
-E2=2 ME 3002 * 10,0008 3,000
-E2=5 M 400 * 5,000H4 2,000
OOs=XAIE ®I|LH HEEH =3 3,200
202 o4 H| 5,200 4,500 700
01 2Ll 5,200 4,500 700
OOs=2X 824 oyl 5,200
e X 4,560,000 4,824,000 A 264,000
301 LEtE A= 4,560,000 4,824,000 A 264,000




AN OlSESD
g ots=Xsd
&€ OtsUEEH (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 4,560,000 4,824,000 A 264,000
OAotola ots 2=s2 X
100,000& = 3,400 = 128 4,080,000
OAUTHOLOlI & OtOIALY A2 2eldl XI&
20,000& = 2,000 » 12& 480,000
Ol 0l &AL XI& 72,375 72,210 165
201 £B-2d| 2,375 2,210 165
03 A2 Z Hl 2,375 2,210 165
Oongold 22 =9 M= 55000& » 2504 1,375
Oogoly 2&& M 10,000& * 1000H 1,000
307 21201 A 70,000 70,000 0
04 DIZHHALALSE E X 70,000 70,000 0
O0eEolg &A XA 70,000
Ots+=4 SWX= 30,213,484 18,580,521 11,632,963
= 22,354,383
< 2,873,913
Al 4,985,188
301 et d = 30,213,484 18,462,860 11,750,624
= 22,354,383
< 2,873,913
Al 4,985,188
01 MEIEZE+06l= 30,213,484 18,462,860 11,750,624
O0ts=% XI& 30,213,484
= 22,354,383
= 2,873,913
Al 4,985,188
Ots==% XXM AtEFE 7,992 0 7,992
= 5,595
< 719
Al 1,678
201 Let24d]| 7,992 0 7,992
= 5,595
= 719
Al 1,678
01 At 22l 7,992 0 7,992
O0ts=g At F&HI(22Hl) 7,992
= 5,595
S 719
Al 1,678
Ots=XAIE K& 3,233,963 3,109, 161 124,802
= 299,796
< 193,792
Al 2,740,375
Ots=XAE 24 X& 2,419,600 2,351,600 68,000
307 21201 A 2,419,600 2,351,600 68,000




M OtSESH
3 ois=Asd

e OrsSSXAIE XS (e H)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
10 MM SAANEEHESIHEX 2,320,000 2,252,000 68,000
O0lssSAAIE 294 XN& 2,320,000
1 AFSIE XA E X 99,600 99,600 0
OMD PG = OISTH 2
1,200,000& * 304 A 3,600
OAEOtE AelXEd X
200,000€ * 40¥H = 12&€ 96,000
OlSEXNAE 29 XN (THEX) 166,400 166,400 0
= 83,200
Al 83,200
307 QI2t0| & 166,400 166,400 0
& 83,200
Al 83,200
10 A EXNANEEHE2IH EX 166,400 166,400 0
OUsS=ESXAIE SAMX = 166,400
& 83,200
Al 83,200
Ols Al e L siAL A& 17,000 37,800 N 20,800
301 LBt A= 1,000 1,000 0
09 HAIAHI EAZ 1,000 1,000 0
OOSEXAILE SANLNE EA&X Ba=2
50,000& = 20 1,000
307 212t0| & 16,000 14,800 1,200
02 QIZHEAAIRE E X 12,000 10,800 1,200
OXE0otsHE & XFA ZAIS
800,000& *~ 1€ » 12& 9,600
OX<E0tsHE &S BEE=X =
200,000 = 1€ = 12& 2,400
04 SIZ2HSHAAISH E & 4,000 4,000 0
OX<E0otsHdEH Ols S0tEY AP H] 4,000
RES0ls 08 29 K& 177,190 146,305 30,885
= 70,894
& 42,526
Al 63,770
307 2iz2to| A 177,190 146,305 30,885
= 70,894
o=t 42 526
Al 63,770
10 MM SAANEEHESIGHEX 177,190 146,305 30,885
OZ2SMEIAE 29H X 177,190
= 70,894
o= 42 526
Al 63,770
NS ESHEEINH 29 443,693 407,056 36,637
= 221,846




2N
X ZH -
L= B

el

OtsEs
ots=Xsd
OlS=XAIE K&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

= 66,554
Al 155,293

307 2iz2to| A 443,693 407,056 36,637
=2 221,846
&< 66,554
Al 155,293

10 MM SAANEEHESIGHEX 443,693 407,056 36,637
OolseEsd2)|&2 29d] X& 443,693
= 221,846
& 66,554
Al 155,293

RESOIS(ZFAHAERNSS) ANHEXHA 10,080 0 10,080
= 7,056
o=} 1,512
Al 1,512

307 QI2t0| ™ 10,080 0 10,080
= 7,056
& 1,512
Al 1,512

11T A EXAIEEX 10,080 0 10,080

OQESNE XNEXNFAY (FAHHE X SO0t n:

EPAEED) 10,080
= 7,056
o= 1,512
Al 1,512

XNEotsHdEe X 2,993,492 2,698,520 294 972
= 1,272,096
& 633,622
Al 1,087,774

KOS HE 29 N/ (Z2DEX) 2,194,040 2,046,480 147,560
= 1,097,020
& 443,808
Al 653,212

307 QI2t0| ™ 2,194,040 2,046,480 147,560
= 1,097,020
= 443,808
Al 653,212

10 Al SXNANEEHESIHEX 2,194,040 2,046,480 147,560
OXgotsdH JI22dd A 2,194,040
= 1,097,020
& 443,808
Al 653,212

XY0tsSHEH 29H XN (EHEX) 260,600 255,400 5,200
= 119,780
Al 140,820

307 2Iz2t0| & 260,600 255,400 5,200
= 119,780




2N OS2SR

3
3 ois=sNsd

il

=

& XFotsdH X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 140,820
10 ALSISXAIEEE 22X 260,600 255,400 5,200
OX<GotsHEH SALAY 208,000
< 104,000
Al 104,000
OXYotsdy dietetdl X3 52,600
< 15,780
Al 36,820
ANSEotsSHEH 290 X2 (XMHA) 188,700 185,040 3,660
307 glz2tol & 188,700 185,040 3,660
10 AL SXAIEEE 2 H EX 188,700 185,040 3,660
OXgotsdH = 224l 150,300
—30Q101& A4 FOt2 3| 72,000
—2921013t Al =Jt29Hl 78,300
OXY0otsdE SAA MRHAH 38,400
SE+=S3E XNGorsdE FIXA 73,080 73,440 2360
= 36,540
< 14,616
Al 21,924
307 21201 A 73,080 73,440 A 360
= 36,540
= 14,616
Al 21,924
10 M2 SXNANEHES2IHEX 73,080 73,440 A 360
SE=35g 234 N& 73,080
= 36,540
< 14,616
Al 21,924
ERRE XNYotsdEH =X 69,312 63,672 5,640
= 34,656
< 13,866
Al 20,790
307 glz2tol & 69,312 63,672 5,640
= 34,656
< 13,866
Al 20,790
10 AL SXAIEEE 2 H EX 69,312 63,672 5,640
OE=2d94 XN& 69,312
= 34,656
< 13,866
Al 20,790
=N otsHdy XA 77,760 74,488 3,272
= 38,880
< 15,552
Al 23,328
307 21201 A 77,760 74,488 3,272




2N OS2SR

3
3 ois=sNsd

il

=

& XFotsdH X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 38,880
< 15,5652
Al 23,328
10 ALSISXAIEEE2EH EX 77,760 74,488 3,272
Of=Xd0otsdt 2<4l XN& 77,760
= 38,880
= 15,552
Al 23,328
ANEotsde 3Ll XA 130,000 0 130,000
= 65,000
< 26,000
Al 39,000
402 RI2FXt20l 130,000 0 130,000
= 65,000
< 26,000
Al 39,000
02 It 2 AL EZ (O THS) 130,000 0 130,000
OXY0tsdH S3HLHIXA 130,000
2 65,000
< 26,000
Al 39,000
otsdel2% 38,950 80,200 A41,250
Ots& Al =&AL 38,950 80,200 A41,250
201 LBt | 33,850 19,200 14,650
01 At 22l 26,850 14,200 12,650
OOS&STANZFERARAE 3o &
70,0003 = 10¥ = 43 2,800
Ootszel XIZ0l EsX &l
70,000& = 3H « 53l 1,050
OOSTIEAFE T 2A=H
400,000& = 103 4,000
Ootsdel 228 & M&
3,000& = 2,0000H 6,000
Oget=gH| 6,000
-0t Al GlAA R NEE 22t 3,000
- Ots&S Al BHAS HE 3,000
OtsaHHt 228 ¢ 1,000
OOs&EWE X, =71 ¥ 22X WA
50,000& = 60H 3,000
O&=8 & olM= Xl 1,000
OOtSEOMY OtsAcns 2AME
400,000& = 53| 2,000
02 =224l 5,000 5,000 0
OO0sESEAFE NLYEFRE 3 A HI
5,000,000& = 13l 5,000
03 & Ar2 Z I 2,000 0 2,000




2N

OtsEs

g ots=Xsd
gelr OlsACEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OOsEHE NEENH HA2SE 2,000
202 044l 1,500 1,000 500
01 = LH 4 1l 1,500 1,000 500
OO0ts&at=Al H2FH & A 04l 1,500
203 YR =&l 2,000 0 2,000
03 AIEZ=AH 2 =AH| 2,000 0 2,000
OOt &St Al HR2F&HI 2,000
301 et d = 1,600 0 1,600
09 HALAHIE& S 1,600 0 1,600
OO0tsEWE =&l 8,000& * 509 « 43| 1,600
CetNssdH 29 106,881 0 106,881
= 61,940
< 22,470
Al 22,471
CENsesdH 22 (208x) 39,881 0 39,881
= 19,940
< 9,970
Al 9,971
307 21201 A 39,881 0 39,881
= 19,940
< 9,970
Al 9,971
11T MISXAISE EX 39,881 0 39,881
OUEHN=sSHH 22| 39,881
= 19,940
= 9,970
Al 9,971
CtetHEssdE 3 67,000 0 67,000
= 42,000
< 12,500
Al 12,500
402 2I2H X201 M 67,000 0 67,000
= 42,000
< 12,500
Al 12,500
02 QIZE 2 A EZ (01X THE) 67,000 0 67,000
OUENEsHEH 222 X2 (1) 67,000
= 42,000
< 12,500
Al 12,500
CEAEE Ots X& 161,786 167,792 A 6,006
= 147,466
Al 14,320
CYHABEME 29 161,786 167,792 A 6,006
= 147,466




fAd: OtsSES
M CYAEE Ol XE
Sl CRABEAY 29 (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 14,320
FAHNE OIS SEAMEIA XA (AHY) 111,158 113,800 N2,642
= 111,158
201 LB-2d| 12,833 11,800 1,033
= 12,833
01 At 2t 2l 12,833 11,800 1,033
OEYAEE AR (M2 USH(MEZS2RY)
300,000& = 3H « 13l 900
= 900
OxAX & 822 WA 7,700
= 7,700
O#HHI& =% 250,000 * 43| 1,000
= 1,000
OEEAEE 29| 3,233
= 3,233
202 oddl 1,500 3,000 A 1,500
= 1,500
01 = LH o4 1l 1,500 3,000 21,500
OCEAEE A Q20|
500,000& = 3H 1,500
= 1,500
207 A RO H| 720 700 20
= 720
02 & AHIH I 720 700 20
OEHARE RN ALE FXE 720
= 720
301 L2 A3 95,105 98,000 22,895
= 95,105
01 Al EE H =06l = 92,860 89,000 3,860
OEEHAERE 242 28 2XAY 92,860
= 92,860
09 HALAHIE& S 2,245 9,000 A6,755
O#AI2Y EHXEA(SA S) 2,245
= 2,245
405 TtHebF S| 1,000 300 700
= 1,000
01 XAt =S H SHI 1,000 300 700
OEEAERE AMRIII 7 1,000
= 1,000
FAHE OIS SEAMEIA X3 (A 36,308 39,672 AN 3,364
= 36,308
201 LBH2EH| 36,308 39,672 A 3,364
= 36,308
03 A2 Z Hl 36,308 39,672 A 3,364




AN OlSESD
dM: CHYAERE Ots XA
Celr CEABEAY 29 CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFsHE  2R2us,IEME S M3 36,308
= 36,308
FANES OIS S AMEIA XA (AL 10,320 10,320 0
201 L2l 8,220 8,220 0
01 At 22l 2,220 2,220 0
OEEAERE HE S| 740,000 » 3¥ 2,220
03 A2 Z HI 6,000 6,000 0
OLEEAEE JIISAMEEIZ 6,000
202 o4dl 2,100 2,100 0
01 = LH o4 1l 2,100 2,100 0
OEHAERE HRFTHHI 700,000& = 3H 2,100
CYAEE AFAE 03 JHE (AlBIl) 4,000 4,000 0
201 et 4,000 4,000 0
03 &Ar2 Gl 4,000 4,000 0
OEEAERE AMHEDNS M 4,000
2 A 147,590,944 147,214,564 376,380
= 76,851,022
< 45,397,204
Al 25,342,718
SESsAY NE 97,200 111,080 A 13,880
= 25,600
< 12,280
Al 59,320
ESMY 2435 23,200 22,200 1,000
201 Let24dy] 15,000 15,000 0
01 At 2teltl 15,000 15,000 0
OESAY ot I H 7,000& » 7002 4,900
OEsUAE MR Wi &2t
7,000& » 7002 4,900
O/=d & E8& W& 10,0002 * 1000H 1,000
OESHMAs solas £ X
70,000& = 10¥ 63l 4,200
202 044l 4,200 4,200 0
01 S LHOIYI 4,200 4,200 0
Es2 YRFA o 700,000& * 6 4,200
301 LAz 4,000 3,000 1,000
12 J|EBtE 4= 4,000 0 4,000
Od= ZUotsE2sM3II2 &2z F4H| 4,000
FR2LHYEE 2 (X&) 20,000 20,000 0
= 10,000
= 5,000




<

n0

Kio

Hl w

/20,000

A 20,000

220,000

5,120

5,120

5,120

180,240

2,000

2,000

2,000

H3r
Wikd
RIS

20,000

20,000

48,000

48,000
33,000

15,000

20,880

20,880

20,880

2,621,760

60,000

60,000

60,000

Off &t 24

5,000
20,000
10,000

Al

i

H

5,000
5,000
20,000
20,000
10,000

Al

fir

H

5,000
5,000
28,000

Al

28,000

13,000

4,000
3,000
6,000
15,000
15,000

26,000
15,600

i

H

7,280
3,120
26,000
15,600

Al

i

W

7,280
3,120
26,000
26,000
15,600

Al

rr

H

7,280
3,120

2,802,000

Al

fir

1,401,000

H

62,000
31,000
15,500
15,500
62,000
31,000
15,500
15,500
62,000
62,000

700,500
700,500

Al

fir

Al

fir

H

Al

o
<0
H

o)
oll

b

12 JIEt

0t
E

ok

0

S}l
OF

307 glztol &

Kq
H
3D
<0
&0
A

ol

O
El
o
A0

0
ar

o)
R
E

O

K]

w0
=
Hr
m

]
o)

oJ

O

H

oF

KD

1]

307 21201 A

ISXAMBE X

2

11 Al

%0
KA
70
ol

H

X=201&

)

o
[ud

2|

e

(01 & TH

<+
iy

KD
ul
[l

iy
RO




AN OlSESD
HE: 2R
ool B8y x4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 31,000
< 15,500
Al 15,500
=38 Heold &= 2,740,000 2,561,760 178,240
= 1,370,000
< 685,000
Al 685,000
201 ¢er24| 700,000 1,000,000 300,000
= 350,000
< 175,000
Al 175,000
01 At 2t 2l 700,000 1,000,000 A 300,000
ORIZtoiE0lE HIIYX 252 700,000
= 350,000
< 175,000
Al 175,000
402 RI2EXt20l ™ 2,040,000 1,450,000 590,000
= 1,020,000
< 510,000
Al 510,000
02 RIZt X2 AL EZ (OIS ) 2,040,000 1,450,000 590,000
O cl2g2d X& 1,100,000
= 550,000
= 275,000
Al 275,000
Oglztoiglold &J1gx el22e X 770,000
= 385,000
< 192,500
Al 192,500
OJIXM &d X& 170,000
= 85,000
< 42,500
Al 42,500
ogold 29 144,691,744 144,481,724 210,020
= 75,424,422
< 44,684,424
Al 24,582,898
S3ENHE0IE 2IHI(=2EX) 506,400 462,000 44,400
= 303,840
< 141,792
Al 60,768
307 21201 A 506,400 462,000 44,400
= 303,840
< 141,792
Al 60,768
11 AS S RAEE = 506,400 462,000 44,400
O3380e0ld 24| 506,400
= 303,840




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

= H

141,792
60,768

= M W

13,000
7,800
3,640
1,560

13,000

307 21201 &

= N W

13,000
7,800
3,640
1,560

13,000

A S XA E X

Os0E AN gaoolE XN

=z N W

13,000
13,000

7,800
3,640
1,560

13,000

432,750

424,000

8,750

432,750

424,000

8,750

I8 AWSII2 E3d X&

417,000
417,000
156,750
15,750

417,000

7,000

8,750

= 0N W

11,097,660
6,250,830
3,125,415
1,721,415

9,868,984

1,228,676

307 21201 A

= N

11,097,660
6,250,830
3,125,415
1,721,415

9,868,984

1,228,676

10 A SAAEHE2SHIEX
=

OFEXE 00y SAL 2d K&

= MW = N W

= N H

11,097,660

9,396,000
5,400,000
2,700,000
1,296,000
205,260
102,630
51,315
51,315
1,496,400
748,200
374,100
374,100

9,868,984

1,228,676

= HmnH

294,000
147,000
73,500
73,500

280,000

14,000




2N
X ZH -
L= B

el

CHE - EI(BA) - NRAY - BYS

=

i
2m

307 21201 &

= N H

294,000
147,000

73,500
73,500

280,000

10 A SAAEHIES2SHEX

OOEold W=l X2 (400004 )

= HmnH

294,000

294,000
147,000
73,500
73,500

294,000

[
=
ipal
Ao
02
bl
Y
~
o
A0
02
=

= Hn W

168,000
84,000
42,000
42,000

192,000

A 24,000

307 glztol &

= Hn W

168,000

84,000
42,000
42,000

192,000

A24,000

10 M SXNANEEE2SHES

O0NZ2I0I& XtH29Hl X (800 A)

= M W

168,000

168,000
84,000
42,000
42,000

192,000

A 24,000

10
=)
H
Ho
tu
=
{0

= N W

,853,498
,904,774
,974,362
,974,362

72,150,000

6,703,498

307 glz2tol ™

= N W

160,000
97,500
26,250
26,250

160,000

10 A SAAIEHISSHIEX

OZrot 22 X

0

(ESHI2HM 0IHSAMY)

= MW

150,000
150,000

97,500
26,250
26,250

150,000

308 NtXIEHMSOIE

= MW

703,498
807,274
,948, 112
,948, 112

72,000,000

6,703,498

= N W

, 703,498

, 703,498
,807,274
,948,112
,948,112

72,000,000

6,703,498

o

,400,000

,310,000
,045,000

22,883,904

A5,483,904




AN OtSESH
3 EFAY
|

¢hel: 0glo

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 3,045,000

301 gEtE A= 17,400,000 22,883,904 Ab5,483,904
11,310,000
3,045,000
3,045,000

= N W

01 A28 H =62 17,400,000 22,883,904 Ab5,483,904
OOgold nlolsots HaEgdsx4g XR(7,20
0g) 17,400,000
11,310,000
3,045,000
3,045,000

= Hn W

ESUAI MM X3 10,745,252 8,199,840 2,545,412
5,372,626
2,686,313
2,686,313

= M W

307 21201 & 10,745,252 8,199,840 2,545,412
5,372,626
2,686,313
2,686,313

= M W

10 AR SAAEHE2SHIEXR 10,745,252 8,199,840 2,545,412
OEXUWA Q1A4H| XI&(274Y) 4,524,452

2,262,226
1,131,113
1,131,113

= N W

o
S
>
ok
J
0
0z
pal
{0
H

£
BI(2,4000% ) 5,640,000
2,820,000
1,410,000
1,410,000
O=ZE BESUAM SE2R>(440Y) 580,800
290,400
145,200
145,200

= N H

= M W

Folud X& 20,284,920 24,480,000 A4,195,080
& 20,284,920

307 21201 & 5,200,000 6,000,000 800,000
5,200,000

H

10 AR SAAEHIESSHIEX 5,200,000 6,000,000 A800,000

OsclE 22l X2 (22000 &) 3,600,000
< 3,600,000
OFcld g2 WAL H2IM4&H|(500) 1,600,000
1,600,000

in

308 XM S0H 15,084,920 18,480,000 A3,395,080
15,084,920

H

SIS0 He B &4 EAE A S| 15,084,920 18,480,000 23,395,080
Oy Ex2 XI&(6,0008) 15,084,920
15,084,920

H




2N OISESD
Ha: 2EAY
|

Sl Ol2l0lE 29 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Helo|ld otdEs s A3 93,000 94,340 AN 1,340
== 46,500
Al 46,500
308 XAHXIEHSOIA 93,000 94,340 AN 1,340
o= 46,500
Al 46,500
10 B 2SUHUSHEAEAE AT Y| 93,000 94,340 AN 1,340
ONelold eotdEsg s X 93,000
& 46,500
Al 46,500
H2I0l& 2Y9IHA(EHIEX) 3,975,420 4,316,500 A 341,080
& 1,239,206
Al 2,736,214
307 giztol & 3,878,920 4,303,300 AN424 380
< 1,206,056
Al 2,672,864
10 A SAANEEHESIGHEX 3,878,920 4,303,300 AN424 380
QO0E0Id E€SnNAS 224 (L F=4) 332,000
= 99,600
Al 232,400
O0E0IE E€Z2 MRIMAHI(3,900H) 2,100,000
& 630,000
Al 1,470,000
OXHOMOIEE0E0d BESnd E44¢ 90,000
= 45,000
Al 45,000
OUWUMRAF @24 X< 25,500
= 12,750
Al 12,750
Odtets ZEUMN ES0s 222 (HIZ0HOF 20
o) 700
& 490
Al 210
Qo2 JIA 0l E W, et 2 H| (36000 £ ) 190,000
= 76,000
Al 114,000
OOEI0IZE FHAFK CIHAHl X (36000 2A) 1,140,720
& 342,216
Al 798,504
308 XHXIEHMSOIA 96,500 13,200 83,300
o=t 33,150
Al 63,350
10 2| 2SHUSHEAXERAEASH] 96,500 13,200 83,300
OgtltE: Ols 282 KK (HIZ0HOF 20H) 10,500
= 7,350
Al 3,150
ONelold 828 212 K& 86,000




AN OtSESH
3 EFAY
|

Sl Ol2l0lE 29 (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 25,800
Al 60,200
20|18 EE&A A (Al 740,740 970,220 N 229,480
202 04| 3,500 3,500 0
01 2Ll 3,500 3,500 0
OBESEXNY 924 | 700,000 = 5 3,500
301 et A= 640 640 0
09 SHAIAHI B A2 640 640 0
OS5 BEFAE 2AHAXE Y
8,000& * 40¥ x 23| 640
307 2izto| A 736,600 882,080 A 145,480
10 MM SAANEEESIGHEX 646,600 799,680 A 153,080
OXOMOIEES0 0 Egsndd 2824
2l L 2FI|A, BESWER) 62,400
OFRONY AL BIS 2FHLL 172,800
OZOHOIEEHE0IE 2 21| 85,000
OFEXNA20|E HHErHA2H| (4800 ) 14,400
O0EolE SAdDA HI2ELE X 312,000
11T A EXAIEEX 90,000 82,400 7,600
ONelold e22ts MHlA 29 30,000
OoZBJos 20 =5 A& 60,000
dHESAHEUA MZ2XR 87,104 132,536 N45,432
= 43,552
o= 21,776
Al 21,776
307 212t0| & 73,104 118,536 N45,432
= 36,552
= 18,276
Al 18,276
10 M SXAEEHESIGHEX 73,104 118,536 N45,432
OAZHIE=R ol21H] & 29| 73,104
= 36,552
& 18,276
Al 18,276
308 XHXIGH SO0l & 14,000 14,000 0
= 7,000
& 3,500
Al 3,500
10 B 2SO USE AN E AISH 14,000 14,000 0
OAZIM B2 14,000
= 7,000
= 3,500
Al 3,500
M AZH(OtsSE=1) 845,254 611,606 233,648

_20_




2K OtsEx1
HM: H¥M2HAH| (Ot EE)
Sl ol ) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 770,391
& 71,543
Al 363,320
ol 2HH| 750, 152 519,924 230,228
2 410,391
& 71,543
Al 268,218
ol =AY 750, 152 519,924 230,228
2 410,391
& 71,543
Al 268,218
101 Q124 H] 750, 152 519,924 230,228
= 410,391
= 71,543
Al 268,218
03 RIAHL*ZZXHE 750, 152 519,924 230,228
OX<E0ot=sHdEH Ols=SXWAF 22| 471,453
—0lSEXN LA JI=223 303,552
= 151,776
& 60,711
Al 91,065
- OlS=EXUA AMIBEREEZ & 22 54,162
= 27,081
= 10,832
Al 16,249
- NS A =S XA Y| 800,000& ~ 1H 800
—OlSEXNWAHSAIZZR) A2 A EXH|
30,0008 = 3™ 90
— =4l 22,132
=] 22,132
-JIsx4 21,780
- sy ExE 9,193
= =]l 30,356
-z AZ 7,256
OEYAEIE OlsSE At 22l AF 212 Y| 278,699
-Jl23 1,950,000 = 7 = 12&€ 163,800
= 163,800
-EAZ2X8E L AFEE 31,122
= 31,122
— A2t ¢
13,990& = 15AI2F = 78 = 12&€ 17,628
= 17,628
- 0o i 120,000 * 79 = 128 10,080
= 10,080
— HHFAH| 130,000 * 79 = 128 10,920
- nsE8 XY 130,000& * 7¥H « 128 10,920
-JIE4LE 40,0003 * 79H = 128 3,360




2AM: OtsE=x1
H: HM2AAH (OISES)
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
- Y &SI
1,950,000& * 78 * 60% * 23] 16,380
- sy XY 360,000 * 1H = 43| 1,440
- A X2 A 84,590& » 78 » 7 4,145
- 0lS S A 22 A S &I
8,000 * 78 » 7 « 12& 4,704
= 4,704
—CEAEE QJMR(HE2T) nEH (OtsS¢E
A2 22l AF) 600,000& * 7H = 13| 4,200
= 4,200
Jl=3 bl 95,102 91,682 3,420
DR sl 95,102 91,682 3,420
201 LEt2 Y| 29,222 29,282 A 60
01 AR 22| bl 28,760 28,820 60
OJISMNRES FdHI 10,000
OJIEt=+=&Hb] 4,000
SAD edxts 120,000& = 1204 & 1,440
oozt & 52 22X 34| 13,320
02 332494l 462 462 0
O38& 23 38,500& * 1204 & 462
202 (4] 60,480 57,600 2,880
01 2L Y| 60,480 57,600 2,880
Ol € JIS8ELRFAHHI 60,480
203 R =&lY| 4,200 3,600 600
04 ENSI IR =Y 4,200 3,600 600
ORANEdY 2= 4,200
204 &R = A | 1,200 1,200 0
01 MR FY| 1,200 1,200 0
OXNBZHRHZ | 100,000& * 12JH& 1,200

- 22 -




	14_아동보육과(세입)
	14_아동보육과(세출)

